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206 A : BUSINESSADMINISTRATION

(2019 Pattern) (CBCYS) (Paper - |)
Time: 3Hoursg| [Max. Marks: 70
I nstructions to the candidates:
1) All questions are compulsory.
2) Figuresto the right indicate full marks.

Q1) Attempt any ten out of twelve from the following : [10]
) A Partnership Firm is established under Act.
a Company Act 2013 b) Indian Partnership Act 1932

c) Indian Contract Act 1872 d) None of the above

i) Theminimum number of membersrequired for incorporation of apublic
limited company is

a 3 b) 2
) 7 d) 50

ii)  The Employees Provident Fund and Conservation Provisions Act was
established in the year

8 1952 b) 1959

c) 1951 d) None of the above
Iv) Productivity is measured in
a Raw Materia Input b) Worker Input
c) Capita Input d) All of theabove
v) Thebasic purpose of existenceof any organizationisdescribedby .
a Policy b) Mission
c) Process d) Strategy
vi) Government policy towards industriesis called
a Industria Policy b) Economic Policy
c) Activity Policy d) None of the above
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vii) Secondary industriesincludetheindustriesthat usethe products produced

from Industries as raw materials.
a Primay b) Secondary
c) Tetiary d) Secondary and Tertiary

viii) Buying and selling of goods and services within the geographical
boundaries of the country is

a Domestic Trade b) Foreign Trade

Cc) International Trade d) All of theabove
IX) TheheadintheHindu Undivided Family businesssystemiscalled .
a)  Secretary b) Chairman
c) Karta d) Coparcener
X) Inapartnership firm, theliability of the partnersis
a Limited b) Public
c) Coallective d) Unlimited
xi) A Limited Liability Partnership isformed under the Act.

ad LimitedLiability Partnership Act 2008
b) Indian Partnership Act 1932
c) Indian Company Act 1956
d) MaharashtraCooperativeAct 1960
xii) DPIN means .
a) Designated Partner | dentification Network
b) Designated Partner Indian Number
c) Digital Partner Identification Number
d) Designated Partner | dentification Number

Q2) Attempt any five out of seven from the following : [25]
a) Define One Person Company and explain its features.
b) Whatislnternational Trade?
c) Statethetypesof Business Environment.
d) Explainthe social objectivesof business.
e Statethemeritsof Multinational Companies.
f)  Describethe external factorsin Business Environment.
g) Distinguish between Promotor and Entrepreneur.
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Q3) Attempt any five out of seven from the following : [25]
a  Write note - Business Promotor.
b) Explain the Registration Process of Commencement of Business.
c) Whatismeant by ‘Quality Circle’?
d) What ismeant by ‘Outsourcing’ ?
e) Explain the economic objectives of Business.
f)  Statethedemeritsof Multinational Companies.

g) Describethefactorsin Macro Environment.
Q4) Attempt any one out of two from the following : [10]

a) Define Franchisee and explain its advantages and disadvantages.

b) Define Business Promotion. Explain the steps of Business Promotion.

VVVV
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Time: 3Hoursg| [Max. Marks: 70
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto the right indicate full marks.

Q1) Attempt Any Ten: [10]
1)  Which of thefollowingisnot apublicfinancia institution?
a) Lifelnsurance Corporation of India
b) StateFinancial Corporation
c) AxisBankLimited

d) Nabard
i)  The Reserve Bank of Indiawas established in the year
a 1April 1935 b) 1April 1999
c) 1April 1945 d) 1April 1934
i) Private banks are owned by
a Private b) Government
Cc) Semi-government d) All of theabove
IvV) The head office of State Bank of Indiaislocated at
a Mumbai b) Chenna
c) Pune d) Kolkata
v)  When was the National Bank for Agricultural and Rural Development
established?
a 1982 b) 1975
c) 1972 d) 1980
vi) Whichyear IDBI bank was established?
a 194 b) 1965
c) 1966 d) 1970
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vii) are the functions of central bank.
a Creating currency
b) Acting asabank for the government
c) Acting asabank of banks
d) All of theabove
viii) Thefirst regional bank inthe country was established in 1806 at which of
thefollowing places?
ad Mumbai b) Kolkata
c) Madras d) Noneof these
IX)  When was the Co-operative Act first passed in India?
a 1904 b) 1910
c) 1912 d) 1905
X)  Writethefull form of IDBI Bank.
a) Inter Development Bank of India
b) Industrial Bank
c) Industrial Development Bank of India
d) None of the above
xi) The rate at which the central bank provides loans to the commercial
banks through commercial letters, promissory notesiscalledas
a Reverserepo rate b) Bankrate
Cc) Repo rate d) None of these
xii) A bank that controls the supply of credit in an economy.
a Commercial bank b) Central bank
c) Privatebank d) Foreignbank
Q2) Attempt Any Five: [25]
1)  Write short note - Nationalization of the reserve bank of India.
i)  What isthe Regulatory function of Reserve bank of India?
i) Write short note-Foreign Bank.
IV)  What are the challenges before private sector bank in India?
v)  What were the features of public sector bank?
vi) What isthe objective of lead bank scheme?
vii) Statethe objective bank nationalization?
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Q3) Attempt Any Five: [25]
)  Statethefeature of development bank.
i)  Write short note - role of development bank in economic devel opment.
i) What are the advantages of wholesale banking?
Iv)  Write short Note-Social banking.
v) Statethe objective of banking reform 19917
vi)  Writebriefly about recommendation of M. Narasimhan committeel (1991).
vii) Write short Note - Basel - 4.

Q4) Attempt Any One: [10]
1)  Describe the role played by the banks in the economic development of
country?

i)  Discussthe challenges faced by cooperative banksin India?

VVVV
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I nstructions to the candidates:
1) All questions are compulsory.
2) Figuresto the right indicate full marks.

Q1) Attempt any ten out of twelve from the following : [10 x 1 =10]

a) Broker as defined in Sec 2 as per Maharashtra Agricultural Produce
Marketing (development and regulations) Act, 1963.

b) What doyou mean by processor in Sec 2 as per MaharashtraAgricultural
Produce Marketing (devel opment and regulations) Act, 1963.

c) Definetheterm principleof indemnity.

d) What arethetypesof general insurance?

e) Definecyber café.

f)  Define term recruitment as per Maharashtra shops and establishments
Act, 2017.

g) Definetheterm co-operative bank.

h) Meaning of wholelifeinsurance.

)  Definematurity claim.

J)  Define statutory authority as per Competition Act, 2002.

K) Definelay off asper Industrial DisputesAct, 1947.

)  Explaintheterm remedial measuresunder Industrial DisputesAct, 1947.

Q2) Attempt any five out of seven from the following : [5 x5 =25
a)  Write short note on state marketing board.
b) Explaintheprinciplesof fireinsurance.
c) Briefly mentionthe procedureof using digital signature.
d) What are the provision provided for interval of rest in the Maharashtra
shops and establishments Act, 20177?
€) What arethetypesof liability insurance?
f)  What are the features of co-operative society?
g) What arethe advantages of lifeinsurance policy?

PT.O.



Q3) Attempt any five out of seven from the following : [5 x5 =25]

a Explain important characteristics of Maharashtra Agricultural Produce
Marketing (regulations) Act, 1963.

b) Explaintheroleof insurance.

c) Give some examples of consumer co-operative society.

d) Write the composition of the competition commission (Sec. 8).

€) When an electronic record is deemed secure? As per information
technology Act, 2000.

f)  Explainthe procedure of cancellation of registration of a society.

g) Discuss the new provisions provided for opening and closing hours of
establishments as per shops and establishment act.

Q4) Attempt any one out of two from the following : [1x 10 = 10]
a Explain objectives and functions of Life Insurance Corporation.
b) Discuss the scope and objectives of Industrial Dispute Act, 1947

VVVV
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I nstructions to the candidates:

All gquestions are compulsory.

Figures to the right side indicate full marks.
Use of calculator is allowed.

1)
2)
3)

Ql) A)

B)

Fill in the blanks (Any Five) : [9]

1)  Fixed cost per unit with increase in the size of output.

i)  The technique and process of ascertaining the cost is known
as .

i)  Theamount of expenditureincurred on, or attributableto, aspecified
activity is known as :

IvV) A costthat iseasily traceableto acost object isknown as

v) A location, person, or item of equipment for which costs may be
ascertained and used for the purposes of cost control is known
as

Vi) IS specialized branch of accounting which deals with

Classification, recording, allocation and directing overheads.

Sate whether the following statement is True or False (Any Five) [5]

)

i)
i)
\Y)
v)

Vi)

Direct expenses are also called as chargeabl e expenses.
Thetotal of all indirect costs is known as overheads.

A cost that changes in total amount with the change in the level of
activity isknown as Fixed Cost.

Material requisition noteis prepared when materials are returned to
the purchase department.

Closing stock iscloseto current economic value under FIFO method
of pricing.
All costs are controllable.

PT.O.



Q2) Attempt any Five from the following : [25]

a)
b)

c)
d)

f)

Q)

What are the Advantages of Cost Accounting?
What are the different types of tenders?
Write noteon - ‘Material Requisition Note'.

From thefigures given below, cal culate Economic Order Quantity (EOQ)
and Total cost at EOQ.

e  Tota consumption of material per year 20,000 kgs
*  Buying cost per order Rs. 25

*  Unit cost of material Rs. 2 per kg

e  Carrying and storage cost 8%

From thefollowing information, calculate Minimum Level and Maximum
Leve :

*  Re-order quantity 2,500 units,

Re-order period 4 to 6 weeks,

*  Maximum consumption 400 units per week

*  Average consumption 300 units per week

e Minimum consumption 250 units per week

From thefollowing information, calculate Inventory Turnover Ratio :

Material - X Materia - Y
Opening Stock 65,000 37,500
Closing Stock 27,000 42,500
Purchases 97,000 95,000

From the following information, find out the value of Prime Cost.

Particulars Rs.
Opening Stock of Materia 63,000
Closing Stock of Material 34,000
Purchases of Material 2,34,000
Carriage Inward 3,000
Direct Labor 16,500
Direct Expenses 10,000
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Q3) Attempt any Five from the following : [25]
a Write Note on - Bin Card.
b) Write Note on - Methods of Time Keeping.
c) Draw sspecimenfor Material Requisition Note.

d) From the following information, prepare a statement showing ABC
anayss.

A store has 5,000 items of consumption and monthly consumption value
is Rs.5,00,000.

The other detailsare asfollows:

Material type | Percentage of each item | Percentage of Total Value
X 10% 65%
Y 30% 20%
Z 60% 15%
Total 100% 100%

€) Using Taylor’s differential piece rate system, find out the earnings of
workers X andY from thefollowing particulars:

>  Standard Time per piece = 30 minutes

> Norma Rate per hour = 0.90

In a8 hours day, X produces 50 units and Y produces 30 units.

Lower rateis 80% of normal rate and higher rateis 120% of normal rate.
f)  ABCLtd. provided thefollowing information.

*  No. of workers (1% April 2022)

e No. of workers (30" April 2022)

*  No. of workersresign -

g3 ¢ 88

*  No. of replacement -
Calculatelabour turnover rate under :

)  Separation Method

i)  Replacement Method

i)  Flux Method
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Q4) Attempt any One from the following : [10]
a Fromthefollowing information for the month of January,

Particulars Rs. Particulars Rs.

Sales 1,56,000| Office salaries 1,600
Direct materia 87,000| Director'sremuneration | 1,500
Direct wages 22,500| Telephone and postage | 1,200
Factory rent and rates 3,500( Printing and stationery 1,100
Officerent and rates 1,500| Legal charges 150
Pantrepairsand maintenance|  1,000{ Advertisement 1,500
Plant depreciation 1,500| Salesmen'ssalaries 2,500
Factory heatingandlighting | 1,400 Factory manager's salary| 1,000

Prepare a cost sheet to show the following components :

)  Prime Cost.
i) Factory Cost,

i)  Cost of Production,

lv) Total Cost.

b) A Ltd givesthe following transactions occurred regarding purchase and

issue of amateria :

12 Jan.2022 Purchased 3,000 units @ 4.00 per unit
20 Jan. 2022 Purchased 1,000 units @ 5.00 per unit
8 Feb. 2022 Issued 2,000 units
10 Feb. 2022 Purchased 5,000 units @ 6.00 per unit
15 Feb. 2022 Issued 3,000 units
4 Mar. 2022 Issued 1,000 units
9 Mar. 2022 Issued 2,000 units
15 Mar. 2022 Purchased 4,500 units @ 5.50 per unit
30 Mar. 2022 Issued 2,000 units
Prepare Stores Ledger Account as per FIFO method of charging material

| SSUES.
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206 G : BUSINESSENTREPRENEURSHIP
(2019 Pattern)
Time: 3Hoursg| [Max. Marks: 70

I nstructions to the candidates:
1) All questions are compulsory.
2) Figuresto the right indicate full marks.

Q1) Attempt any 10 out of 12 from the following : [10]

1) InIndia, Entrepreneurship has been rapid grown since the liberalization
of the economy in

8 1991 b) 1992

c) 1993 d) 1994
i) After India's independence the share of services in the GDP was
approximately %.
a 40 b) 30
c) 50 d 60
i)  Theworld bank and the monetary fund are greate supporters.
a Internal b) Indian
c) Nationa d) Internationa
Iv) SHG Bank linkage Programme initiated by
ad HDFC b) ICICI
c) NABARD d) SBI
v) Types of Internet Transactions :
a B2B b) B2C
c) C2C d) All of theabove
Vi) entrepreneurship isall about exploiting opportunitiesto create
social value.
a Economica b) Environmenta
c) Socia d) Others

PT.O.



vi) The method is often used in amore complex six cycle version.
a KM b) KL
c) KN d KJ
viii) A.F. Osborn developed the brainstorming procedure in
a 1951 b) 1952
c) 1953 d) 1954
iX) Many s have set up self-help groups.
a WorldBank b) NGO's
c) SHG's d DPIP
X) Indian Partnership Act,
a 1931 b) 1933
c) 1932 d) 1934
xi) Robert Crawford developed this technique in
a 1944 b) 1955
c) 1956 d) 1957
xii) Inindia, __ isnow mandated by government law.
a CRY b) CSR
c) RTI d) NGO's
Q2) Attempt any 5 out of 7 - [25]
)  Briefly explainthe eval uation of snap deal.
i)  Mention any four functions of SHG's.
i)  What are the do's & don'ts of managing SHG's?
IvV)  What kind of lessons can be learned from Tata's Journey?
v)  Write ashort note on " Sustainable Product Design".
vi) What are the important functions that need to be performed by an
entrepreneur?
vii) How can an economy be classified?
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Q3) Attempt any 5 out of 7 - [25]
)  What arethe goals of Socia Entrepreneurship?
i)  Briefly explain al of the phases of EDP.
i) Write short note on the "Origin of Naukari. Com".
IvV)  What are the myths surrounding business ethics?
v) How has coronavirus effected Entrepreneurship?
vi) What do you mean by Mind Mapping?
vii) Listthedifference between Self-employed and Entrepreneurship.

Q4) Attempt any 1 out of 2 - [10]

1)  Discusstheessentia qualitiesthat should be possessed by an Entreprenedur.
i)  Describethe different types of Entrepreneursin detail.

VVVV
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yg73) @l 7 Ukt 5 gvArn s forgr. [25]
) o SeeliTehde S 1 3T ?
i) EDP = wd zw e &
iii) 'Naukari. Com' = Ieuiier & forar.
V) caTaET Afehdean STHUTHTAT fHerh e 3TTEa ?
V) SRR [N Sesiisiehdear shal URuTT SIell 312 ?
vi) wEgs |t (Mind Mapping) ot s ?
Vi) TERRISTTR 30Ut SeuiisTehar Tl Tieh Geiiag .

g9 4) Wiele 2 9ht 1 9 I o [10]
) SElieThTRS IV TUT STEYEH g AR Tt .
i) fafaurgsren Seswr queiicar auia .
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I nstructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
Q1) Attempt any TEN out of TWELVE from the following : [10]
)  Whoissender?
i)  What isdownward communication?
i)  What issubject linein business|etter?
V)  Whoistheinterviewee?
V) Presentation is also amethod of which communication?
vi) When we use job bio-data?
vii) What is export trade?
viii) When we prepare a research report?
iX)  Which country launces of Zoom application?
X)  What isthe use linkedIn application for job seekers?
xi)  When the businessmen writes sales | etter?

xii) Writer of ablog is known as?

P.T.O.



Q2) Attempt any FIVE out of SEVEN from the following : [25]
1)  Statethemeritsof written communication.
i)  Mention theimportance of time management.
i)  What does a good resume help a candidate?
Iv) Give the specimen example of transfer order.
v)  What do you mean by world wide web?
vi) What isthereason for writing a sales letter?

vii) Write ashort note on email.

Q3) Attempt any FIVE out of SEVEN from the following : [25]
i)  Statethemeritsof oral communication.
i)  Discuss the essentials of a good business |etters.
i)  Whatisgrooming?
IV)  What are the two types of ajob application |etters?
v)  Which pointsareinvolved in atypical project?
vi) State the features of WhatsA pp application.

vii) What is quotation?

Q4) Attempt any ONE out of TWO from the following : [10]
1)  Whatiseffectivelistening? Givetheten commandmentsof listening?

i)  Discusstheimportance of social media networksin today’s technology-
enabled world.

PP ir
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Total No. of Questions : 4] SEAT No. :

PA-4666 [Total No. of Pages : 4
[5952] SODL -202

SY. B.Com.
CORPORATE ACCOUNTING
(2019 Pattern) (202)

Time: 3Hoursg| [Max. Marks: 70
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) A) Fill in the blanks (any 5) : [S]
1)  Minority Interest includes
a) Share in share capital b) Share in Capital profit
c) Share in Revenue profit d) All of the above

11)  Pre-acquisition dividend received by Holding company is credited

to
a) profit & loss A/c b) Capital profit
c¢) Investment A/c d) None of the above

111) When the Net Assets are less than the Purchase Consideration,
the difference will be

a) Debited to Good will A/c.
b) Debited to General Reserve
¢) None of these

d) All of these

iv) While calculating purchase consideration values of assets
is to be considered.

a) Book value b) Revalued price
c) Average price d) Capital
v) A Liquidator can claim the
a) Remuneration b) Assets
¢) Dividend d) Interest

PT.O.



B)

vi) The Company has to submit the statement of affairs to the official
liquidator within ____

a) 14 Days b) 21 Days
c¢) 30 Days d) 45 Days
True or False (any 5) : [5]

1)  The financial year of the holding company and subsidiary
company must end on the same date.

11) The share capital of the subsidiary company does not appear in
the consolidated balance sheet.

ii1)) A forensic audit is generally a sampling activity.
iv) A forensic accountant does not search public records.

v) Preference shareholders are legally entitled to the repayment of
capital in the event of liquidation of the company.

vi) Absorption means formation of a new company to take over at
least two existing companies.

02) Attempt any 5 questions from the following : [25]

a)
b)

2)

What are the objectives of forensic accounting?

Calculate the Liquidators total remuneration using following data
The liquidator is entitled to a fixed remuneration of Rs. 3,200 and 2%
on the asset realized and 2% on the amount distributed to unsecured
creditors.

(Asset realized- Land & Building Rs. 70,000, Plant & Machinery Rs.
65,000, Furniture Rs. 70,000, Stock Rs. 35,000, Debtors Rs. 11,000
Unsecured Creditors - 9000)

Calculate the amount of purchase consideration using following data
A Ltd. takes over the business of B Ltd. at the following values: Fixed
Assets Rs. 3,00,000 Current Assets Rs. 1,00,000 Debentures Rs. 50,000
Current Liabilities Rs. 1,00,000.

Draw the format of Consolidated Balance Sheet of holding company.
Write a short note on the calculation of fair value of shares.

What does the Companies Act say with regards to Corporate Social
Responsibility?

Write a short note on the composition of the Accounting Standards
Board.
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03) Attempt any 5 questions from the following : [25]

a)

b)

d)

2

On March 01, 2022, X Ltd. purchased Rs. 5 lakhs worth of land for a
factory site. Company demolished an old building on the property
and sold the material for Rs. 10,000. Company incurred additional
cost and realized salvaged proceeds during the March 2022 as follows:
Legal fees for purchase contract and recording ownership Rs. 25,000
Title guarantee insurance Rs. 10,000

Cost for demolition of building Rs. 50,000

Compute the balance to be shown in the land account on March 31, 2022
balance sheet.

What is the difference between incorporation of a company and
commencement of business?

A manager is entitled to a commission at a certain percentage of net
profit (such commission to be charged in arriving at the net profit).

The commission is to be allowed on the following rates :

First Rs. 10,000 of the net profit Nil

Next Rs. 20,000 @ 10%
Next Rs. 30,000 @ 15%
Next Rs. 60,000 @ 20%
Balance feasesee @ 30%

The net profit before charging the manager’s commission is
Rs. 1,45,000. Compute the amount of manager’s commission.

On 31* March, 2016, the balance sheet of Raghuvans Ltd. disclosed
the following position :

Total Subscribe shares of company is 40,000

The tangible fixed assets valued at Rs. 5,00,000 (Revalued Rs.
3,50,000) and goodwill at Rs. (Revalued Rs. 50,000), Current asset
Rs. 4,00,000, 14% Debentures Rs. 1,00,000, Current Liabilities
Rs. 1,30,000

Compute the value of the company’s share by the net assets method -
What are subsidiaries companies?

Briefly explain the methods in which purchase consideration is
calculated.

Write a short note on Deficiency or Surplus Account.
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04) Attempt any 1 of the following : [10]

a) A Ltd. went into voluntary liquidation. The following are the details :
Assets realized Rs. 40,000, Liquidator’s remuneration Rs. 5,000,
Unsecured creditors Rs. 17,000, Preference share capital is Rs. 17,000,
Equity share capital consists of : 1,000 shares of Rs. 1 each.

You are required to prepare the “Liquidator’s Final Statement of
Account.”

b) Discuss the tasks, ethical principles and responsibilities of forensic
accountants.

F6d836
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Total No. of Questions : 4] SEAT No. :

PA-4667 [Total No. of Pages : 4
[5952]SODL -203

SY. B.Com.
BUSINESS ECONOMICS (Macro)
(2019 Pattern)

Time: 3Hoursg| [Max. Marks: 70
I nstructions to the candidates:

1) All the questions are compulsory.

2) Figures to the right indicate full marks.

3) Draw the diagram wherever is necessary.

Q1) Attempt any ten out of twelve from the following : [10]
1) Macro Economics Deals with -

(Single unit, Study of Individuals, Aggregates and Averages, All of
the above)

2) Following is not the objective of Macro Economics -
(Full Employment, Price stability, Economic Growth, Profit
Maximization of firm)

3) The part of personal income which is actually available to household
for consumption is called
(Personal Income, National Income, Per capita Income, Personal
Disposable income)

4) The book General Theory of Employment interest and money was
written by
(J.M Keynes, J.N Keynes, David Ricardo, Alfred Marshall)

5) Consumption Function shows the relationship between

(Income and saving, Income and Investment, Income and Consumption,
None of the above)

6) Following is not the determinant of Efficiency of capital
(Supply price, Rate of interest, Prospective yield, Market condition)

7) It is the final outcome of all economic activities of a nation,
value in terms of money.

(Percapita Income, National Income, Disposable Income, All of the
Above)

PT.O.



8) It can be defined as the number of man-hours at with the
demand for and supply of labour in the labour market are in equilibrium.
(Full Employment, Under Employment, Unemployment, Low level
of employment)

9) It states that supply creates its own demand.

(Say’s Law of Markets, Keynesian Law, Fishers Law, Cambridge
equation)

10) It is the amount of cash in circulation in an economy.
(Liquidity, Credit, Cash, Saving)

11) It means generally a considerable and persistent rise in
the general level of prices.

(Inflation, Deflation, Stagflation, Recession)

12) It is a policy statement of the government with its financial

implications.
(Budget, Profit, Revenue, None of the above)
02) Attempt any five out of seven from the following : [25]

1) Distinguish between microeconomics and macroeconomics.

2) Briefly explain the various concepts of national income.

3) Write a short note on Keynes’s psychological law of consumption.

4) Examine the concept of investment multiplier.

5) Discuss the consequences of inflation.

6) Explain the phases of a business cycle.

7) What are the major drawbacks of budgetary deficit?

03) Attempt any five out of seven from the following : [25]

1) Describe the expenditure method of measuring national income.

2) Explain the classical theory of Employment.

3) What is marginal propensity to consume and average propensity to
consume.

4) What is the classical approach to the demand for money?

5) Explain the determinants of money supply in an economy.

6) Explain the Phillips Curve.

7) Distinguish between private and public expenditure.

04) Attempt any one out of two from the following : [10]

1) Explain the Keynesian theory of Employment.

2) Define National Income and explain the difficulties in measurement of

national income.

F6d836
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SY. B.Com.
BUSINESS ECONOMICS (Macro)
(2019 Pattern)
(AU EUTR)
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Total No. of Questions : 4] SEAT No. :

PA-4668 [Total No. of Pages : 6
[5952] SODL -204

SY. B.Com.
204 : BUSINESS MANAGEMENT
(2019 Pattern) (CBCYS)

Time: 3Hoursg| [Max. Marks: 70
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any ten out of twelve from the following : [10]
1)  The father of Scientific Management is
a) F. W. Taylor b) Henri Fayol
c¢) Henry Mintberg d) Peter Drucker
11) The father of Administrative Management is
a) F. W. Taylor b) Henri Fayol
¢) Henry Mintberg d) Peter Drucker

ii1)) Decisions taken by top management in business management are

a) fundamental decision b) strategic decisions
c) planned decision d) collective decision
iv) Forecasting means
a) prediction of future events b) measuring future events

c¢) planning for future events d) all of the above

v) Planning is a process.
a) intellectual b) continuous
c) technical d) all of the above

vi) Organizing deals with
a) division of work b) decentralization of activities

c) centralization of activities d) all of the above

PT.O.



vii) Delegation of Authority is
a) monopoly b) unity of direction
¢) fixing of responsibility d) unity of command
viii) 14 principles of management were presented by
a) F. W. Taylor b) Henri Fayol
c¢) Henry Mintberg d) Peter Drucker

ix) In a business organization, assigning responsibility for the right work
to the right person means

a) taskdetermination

b) decommissioning of work groups

¢) division of work or division of labor
d) allocation of authority

x) How many levels are there in the hierarchy of motivational needs?

a) 6 b) 5
c) 4 d 2
xi) Concept of trustsheep was introduced by
a) Mahatma Gandhi b) Pandit Jawaharlal Nehru

c¢) Dr. Babasaheb Ambedkar d) Peter Drucker
xii) Corporate Social Responsibility is useful to

a) Private Sector

b) Public Sector

¢) Non-Government Organizations

d) both private and public sector

02) Attempt any five out of seven from the following : [S x § =25]
1)  Explain need / importance for management study.
i1) Explain process of planning.
1i1) Explain types of organization.
iv) Explain techniques of Direction.
v) Explain Douglas McGregor Theory X and Theory Y.
vi) Explain in short importance of leadership.

vii) Explain the concept of Corporate Social Responsibility.
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03) Attempt any five out of seven from the following : [5 x 5 =25]
1)  Explain the meaning and definition of Management.
i1) Explain Concept of Change Management.
1i1) Explain the meaning and definition of Planning.
iv) Explain the Process of organization
v) Explain the concept of Team work.
vi) Explain Mahatma Gandhi’s contribution to management thought.

vii) Explain the concept of Control.

04) Attempt any one out of two from the following : [1x 10 =10]
1)  Explain in detail functions / process of management.

i1) Define the term Leadership. Explain in detail qualities for effective
leadership.

F6d836
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204 . BUSINESS MANAGEMENT
(2019 Pattern) (CBCYS)
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PA-4669 [Total No. of Pages : 6
[5952] SODL -205

SY.B.Com. - Il
ELEMENTS OF COMPANY LAW
(2019 Pattern) (CBCYS)

Time: 3Hoursg| [Max. Marks: 70
I nstructions to the candidates:

1) All the questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any ten out of twelve from the following : [10 x 1 = 10]
1) The Company Act was first established in India in the year
a) 1956 b) 1947
c) 1949 d) 2013

2) The persons who come together to form a company are called

a) Promoter of the company b) Organization

c) Director d) Manager

3) Shares are considered to be property of the shareholder.
a) Individual b) Public
c) Partnership d) Loan

4) The minimum number of directors of a private company should be

a) 1 b) 2
) 3 d 4
5) Managing Director can be appointed for a period of years.
a) 5 b) 10
c) 15 d 2

PT.O.



6) The interval between two meetings of the Board of Directors should
not be less than how many days?
a) 90 b) 30
c) 50 d 10
7) When did the Information Technology Act come into existence?
a) 1999 b) 2000
c) 2005 d) 2013
8) E-governance means
a) Electronics Govt b) Electric Govt
c¢) Electrical Govt d) None of these
9) The minimum number of members in a public company is
a) 7 b) 10
c) 20 d) 50
10) A company which has only one member is called
a) One person company b) Private company
¢) Registered company d) Statutory company
11) The principle seeks to protect outsiders from the company.
a) Internal management b) Self-protection
¢) External management d) None of these
12) Prospectus can be published only by Company.
a) Public b) Private
¢) One person company d) Govt.
02) Attempt any five out of seven from the following : [5 x 5 =25]
1) State the Important features of company act 2013.
2) Explain the steps in company registration process.
3) Explain the various clauses in the Memorandom of association.
4) Distinguish between Equity shares and Preference shares.
5) Explain the importance of e-Governance.
6) What is Whole Time Director?
7) Explain the rights of directors.
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03) Attempt any five out of seven from the following : [5 x 5 =25]
1) What is promoter?
2) Explain the components of Prospectus.
3) Explain any five methods of raising share capital.
4) Explain the responsibilities of the board of directors
5) Explain the role of company secretary.
6) Explain the various methods of voting

7) Explain the benefits of e-filing

04) Attempt any one out of two from the following : [1x 10 =10]
1) Explain the various types of companies.

2) Explain the types of company meetings.

F6d836
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ELEMENTS OF COMPANY LAW
(2019 Pattern) (CBCYS)
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Total No. of Questions : 4] SEAT No. :

PA-4670 [Total No. of Pages : 4
[5952] SODL -206

SY. B.A./B.Com.
AECC : ENVIRONMENTAL STUDIES
(2019 Pattern)

Time: 3Hoursg| [Max. Marks: 70
I nstructions to the candidates:

1) All the questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any ten out of twelve from the following : [10 x 1 = 10]
a) Define Environment.
b) Enlist the segments of Environment.
c¢) Write any one objective of sustainable Development.
d) Write any two type of foodchain base on location.
e) River, lake, Oceans are example of which type of Ecosystem.
f)  Define Deforestation
g) Write any two mechanisms of solar energy.
h) Enlist 3 levels of Biological Diversity.
1)  Enlist any 2 types of Insitu Biodiversity conservation.
j)  Define :
1)  Pollution
i1) Pollutant
k) Full form of 3R in Solid Waste Management.

1)  Write the title of Act use to control water Pollution.

PT.O.



02) Attempt any five out of seven from the following : [5 x 5 =25]
a)  Write short note on Disaster Management.
b) What is the Effect of Environment on Overpopulation. Explain.
c) Define Acid Rain. Explain the causes of Acid Rain.
d) Write a note on Air Pollution control measures.
e) Explain in brief solid waste Management.
f)  Write short note on Biodiversity Conservation.

g) Explain the Alternate Energy Resources.

03) Attempt any five out of seven from the following : [S x § =25]
a) Explain the types of foodchain.
b) Explain Pond and lake Ecosystem in Detail.
c) Write a note on Renewable and Non-renewable Energy Resources.
d) Explain in detail Biodiversity of India.
e) Explain concept of pollution. Write in short different type of Pollution.
f)  Write short note on cyclone.

g) Write in detail about Chipkoo Movement.

04) Attempt any one out of two from the following : [1x 10 =10]
a)  Write in detail the threats to Biodiversity.

b)  “‘Environmental Communication & Awareness’’. Explain in detail with
example of casestudy.

e

[5952] SODL -206 2



Total No. of Questions : 4]
PA-4670

[5952] SODL -206
SY. B.A./B.Com.
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(2019 Pattern)
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W) 1 IGEUT QGG ShiEgl g W (Ui ).

3 P.T.O.



T 2)  udet 7 e o e S v I e [5 x 5 = 25]
HA) U HEEAOH o1 fewErer ot
F)  UATERUTN | AREEAT ATEia] TR T8 .
F) A Tl TGS S o WA HROT
T) oY UGHUT SUTIAISHT T8 .
3) OO SATEATIH T .
®) Safafauda waga’ e fora.
T)  UEEl SeEardt wigd foet.

97 3)  TEe 7 G S feam 5 weeieh R e [5 x 5 = 25]
H) TGS TIFHER TR fergt.
F) o T TS UG T .
) YAHTHA SOT=E & YA 7 T JIER HuwiE! At foret.
g) WRATA Jafaraeda qui .
3) TGUUIR HehoUHl TUE oA folfarel TguTei sarea forgt.
W) wEhiaEe o v forEn.
T) U Twae! sEe dredna At foret.

9T 4) YA 9 TRl RIUTCTE Teht U9 STR fore [10]
)  SAafAfIUae e dich TTE . (ShIUTd IR)

F)  UHTERUME TUWUT ST SHSIRTA €08 e Ueh 3aTgHUT 1.

e
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Total No. of Questions: 4] SEAT No. :

PA-4676 [Total No. of Pages: 4

[5952]-SODL-212
SY. B. Com.
206 H : MARKETING MANAGEMENT

(2019 Pattern)

Time: 3Hoursg| [Max. Marks: 70
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any Ten out of Twelve from the following : [10]
a Whatismarketing?
b) Statethe components of marketing mix.
c) State the components of Perter Model.
d) Definemarketing planning.
€) What ismarketing research.
f)  Who are end users?
g) Whatisgreen marketing?
h)  What is biosphere?
)  Define E-marketing.
J) Describe ROI.
K) Whatisdigital marketing?
)  Statethedistances of international trade.

Q2) Attempt any Five out of Seven from the following : [25]
a) Describe marketing concept verses production concept.
b) Statethe bargaining power of suppliers.
c) Explainthecompetitivebehaviour.
d) Describetheconstraintsto effective marketing planning.
€e) What arethe advantages of using eco-friendly techniques?
f)  Statetheadvantagesof E-marketing.
g Statethedifferent typesof online advertising.

P.T.O.



Q3) Attempt any Five out of Seven from the following : [25]
a What are the strength of competitors?
b) Statetheelementsof marketing planning.
c) Statethedifferent typesof research methodsin marketing.
d) What arethe objectives of green marketing?
e) Compareonlineand offline marketing.
f)  What are the modes of media marketing?

g) What arethereasonsfor increasing global expansion of companies?
Q4) Attempt any One out of Two from the following : [10]

a) Discussthe significance and process of segmenting consumer markets.

b) Explaintheadvantagesand disadvantages of e-marketing.

[5952]-SODL -212 5



Total No. of Questions: 4]

PA-4676
[5952]-SODL -212
S.Y. B. Com.
206 H : MARKETING MANAGEMENT
(2019 Pattern)
(TSt TUTaR)

de : 3 am] [Tt 71 - 70
gt : 1) @ gy7 @igtaut siHar sig.

2) IEIRElA 3MTRE YUl U1 gYitaard.

3) dewlardt o st gyTafehT ugre.

TvT 1) el aW Ueht ShivTdEl g |rea. [10]
) Toum wue @
) foum s e anm.
&) U Hige™ U 9.
g) fouum e sawe .
3) fouum wvnem s wE e
W) AT aTuReRd ShivT ST ?
) WA feoum g wE?
I)  SliETeruT WU w5 ?
@)  3-RouART =men w0
g) ROI= quid &
q) fefreas foom o e
g) SAAWEE SR 3R |hM.

g7 2) el 91 Tehl HIvTdE U | [25]
&) fouum deeo foreg s weheTae AU L
q)  YESIGNIE HiqaTetel el S,
®) TR T THATET |
) Tl faurm e stesviie auiE =,
T)  IohI-Theell A STORUATS WIER hiE 37T ?
®) 3-Amhie (fouEe) wEe |,
) IS Wit fafaer R arm.

3 PT.O.



gg73) Wielict |1 Tkt HIvTAg Ut |Ed. [25]
) ufdeaeai= drehe i AR ?
9) o FesEm e .
&) faoumTer fafae yerrean deiem ugdt =@,
g) Ui urehie=h (famumTd) SR e srga
3)  SAETEA NUT STRATE faauHET=t g .
W)  Hifea Ak (ST Ugdl T 3T ?
)  HUTAT ARTdeh AR ATEUIT=t ShRUT hIUT ?

g7 4) @l g Ukt RIUTAE! Uk e : [10]
) Uk AR FaweH wva wge vt ufshasd T .
) 3-urhieT (fuuem) wee snfor dre wEsre anm.

® % %
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Total No. of Questions: 4] SEAT No. :

PA-4677 [Total No. of Pages: 4

[5952] SODL -213
SY. B. Com. (Distance Education)
206 K : INSURANCE TRANSPORT & TOURISM

(2019 Pattern)

Time: 3Hoursg| [Max. Marks: 70
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any Ten questions out of the Twelve from the following : [10]
a What ismean by 'Human Life Value Approach'?
b) Writefull form of 'ULIP.
c) Whatismean by Traditional plansof Life Insurance?
d) What is mean by cover note.
e) Define'Endorsment'.
f)  What ismean by principle of 'Contribution'?
g) What are the types of Tourism?
h)  What is mean by Crop Insurance?
)  What isthefull form of IRDA?
))  DefineTourism.
k) DefineReligiousTourism.
)  What ismean by Interregional Tourism?

Q2) Attempt any Five out of the Seven from the following : [25]
a) Lifelnsurance contract.
b) Proof of Age.
c) Proposa form.
d) Featuresof Life Insurance.
e) Significance of Tourism.
f)  Economic Impact of Tourism.
g) Factors affecting demand of Tourism.

P.T.O.



Q3) Attempt any Five out of the Seven from the following :

)
b)
c)
d)
€)
f)
9)

[25]

Difference between Traditional and non Traditional Lifelnsurance Plan.

Principlesof Life Insurance.

Objectives of IRDA.

Scope of Tourism in India.

Career opportunitiesin Tourism.
Principle of Good Faith.

Challenges before Indian Tourism Sector.

Q4) Attempt any One out of the following :

a)
b)

State the procedure of taking Life Insurance Policy.

Define Tourism. State the various forms of Tourism.

[5952]SODL -213 5
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Total No. of Questions: 4]

PA-4677
[5952]SODL -213
SY. B. Com. (Distance Education)
206 K : INSURANCE TRANSPORT & TOURISM
(2019 Pattern)

(TS EUTR)

de : 3 am] [Tt 71 - 70
gt : 1) @ gy7 @igtaut siHar sig.

2) STEIHREIT 37 T9ATR UT FIfaard.

3) wewulardt it gvuteT UgrEf.

wil) e SR T e . (10
A)  wHeE Rae goa’ gEiehH Ut i ?
a) ULIP= qui ®u forat.

%) SNl URuRieh iSHT TS i ?
T) hed foHUT WU A ?

3) ‘Ui SR F.

W) SRIUiN ded WU hi 7

T)  UHedT™ YRR Hh.

) T fom o w e

@) IRDA = qui &9 ferar.

)  UheA T .

) ‘uftier U’ SRS .

T) AR T QU & ?

3 PT.O.



g7 3)  Wieiiciieh! ShivTag! urel 99 Hiea. [25]
) rgfdwETen qruTieR iUt STuRUie formn SeHder wes .
F) gl A
&) IRDA = 32w
) YA U= ST,
3)  UHed LETdIel USHIR Heft.
%) e favaEr aa@.
q) WRAE YA SEEe M.

g7 4)  Wiclicidehl HIVATE Ush I97 digan ¢ [10]
) SIgfen SuETR Sfshan @R,
) ‘gded’ =ane . ydenrs fafay wewr @mm.

® % %
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Total No. of Questions: 4]

PA-9214

[Total No. of Pages: 5

[5952]SODL-S-210
SY. B.Com.

206 E: COST AND WORKSACCOUNTING

(2019 Pattern)

[Max. Marks: 70

Model Answer & Scheme of Marking

Q.1 A) Fill in the blanks (Any Five)

1
2.

L)

AN

- Decreases

=> Costing

—> Direct expenses
- Cost unit

~> Cost Center

= Costing

Q.1 B) TRUE or FALSE (Any Five)

b

o vk W

= True
- True
=> False
—> False
= True
—> False

Q.2) Attempt any Five from the following

1.

(W]

> Advantages of Cost Accounting
= Types of tenders

—> Material Requisition Note

= Ans.
2xRUxOC
EOQ= |———
Q UCx CC%

[2 x 20,000 x 25

- Y 2x8%
= 2,500 units

(5 x 1 Mark each) [05]
(3 x 1 Mark each) [05]
(5 x 5 Marks each) 125]
05 Marks
05 Marks
05 Marks
(03 Marks)

PT.O.



Total Inventory Cost
= [Fixed ordering cost x No. of Order per vear] + [Carrving Cost x ECQ/2]

0 = [25 x 20,000/2,500] + [(2 x 0.08) x 2,500/2]

] = 200 + 200

] = Rs. 400 (02 Marks)
5. = Ans

(i) Ordering Level:
Ordering level = Maximum Consumption x Lead Time [Maximum]
=400 x 6 Ordering level
= 2,400 Units per week (01 Mark)
(ii) Minimum Level:
Minimum level = Reorder level - (Average Consumption x lead time
[Average])
=2 400 — ( 300 x 5)
=900 Units per week (02 Marks)
(iii)  Maximum Level:
Max. Stock level = Reorder level - (Min Consumption x Lead time
[Minimum]) + EOQ
=900 - (250 x 4) + 2.500
= 2,400 - (1.000) + 2,500

= 3,900 Units per week (02 Marks)
6. = Ans.
i) Caleulation of Cost of Material Consumed
Material - X Material - Y
Opening Stock 63.000 37.500
Add: Purchased [ 97.000 95,000 ;
| — ——————— —— —_ - C—
. 1.62.000 1.32.500 |
Less: Closing Stock ; 27.000 42,500 |
Cost of Material Consumed 1,335,000 90,000
i) Caleulation of Average Stock = (Op. St. + CL. St) /2
Material A = (65.000 + 27.000).2 = 46,000
Material B = (37.500 + 42.500)/2 = 40,000

iii) Calculation of STR = Cost of Material Consumed / Avg. Stock
Material A = 1.35.000/46.000 = 2,93 times
Material B = 90.000/40.000 = 2.25 times

[5952] SODL -S-210 2



7. -2 Ans.

Particulars Rs.

Opening Stock of Raw Material 63,000
+ Purchases of Raw Material 2.34,000
+ Carriage Inward 3,000
3,00,000

- Closing Stock of Raw Material 34,000
Cost of Material Consumed 2,66,000

+ Direct Labor 16,500
+ Direct Expenses 10,000

Prime Cost 2,39,50%

Q.3) Attempt any Five from the following (5 x 5 Marks each) {25]
1. Bin Card 05 Marks
2. Methods of Time Keeping 05 Marks
3. Specimen for Material Requisition Note 05 Marks
4. > Ans:
Statement showing ABC analysis
[ Material Percentage | No. of items { Percentage Total Value Average
Type of each item of Total Value {Rs.) Value (Rs.)
X 10% 500 ! 65% 3.25.000 650.00
Y 30% 1.500 ‘ 20% 1.00,000 66.67
Z 60% | 3000 15% 75.000 [ 2500
Total 100% 5,000 B 100% | 500,600
5. > Ans.
Piece Rate = (0.90 x 30 mtnutes) / 60 Minutes = Rs. 0.45 per unit
[ Low Piece Rate = 0.45 x 80% = Rs. 0.36 per unit
0 High Picce Rate = 0.45 x 120% = Rs. 0.54 per unit
Standard Production Per Day = 8 x 60/30 = 16 units

a) X produces 50 units per day: thus, his efficiency is 312.5% (30716 x 100) i.e. below
100%. Hence, his earnings = 50 x 0.5 per unit =Rs. 27.00

b) Y produces 30 units per day; thus, his efficiency is 187.5% (30716 x 100) i.e. above
100%. Hence, his earnings = 30 x .54 per unit = Rs. 16.20

[5952]SODL-S-210 3



6. > Ans.

Avg. No. of Workers = (300 + 600)/2 =450
a) Separation Method —
LTR = (No. of Workers Separaie/ Avg. Workers) x 100
=55/450 x 100
=12.22%
b) Replacement Method —
LTR = (No. of Workers replace/ Avg. Workers) x 100
=60/450 x 100
=13.33%
¢) Flux Method -
LTR = (No. of Workers Separate + No. of workers replace) / Avg. Workers x 100
= (55+60/450 x 100

=25.55%
Q.4) Attempt any One from the following (1 x 10 Marks) [10}
I. 2 Ans.
COST SHEET
Direct materials §7.060
Direct wages 22,500
Prime Cost 1,09,500
Factorv Overhead:
Factory rent and rates 3.500
Plant repair and maintenance 1.000
Plant depreciation 1.500
Factory heating and lighting 1,400
Factory manager’s salary 1.000 8.400
Factary Cost 1,17,900
Office and Administration Overhead:
Office salaries 1.600
Director’s remuneration i.500
Telephone and postage 1.200
Office rent and rates 1.500
Printing and stationery 1.100
Legal charges 150 7,050
Cost of Production 1,24.950
Selling and Distribution Overhead:
Advertisement 1.500
Salesmen’s salaries 2.500 4,000
Total cost (or cost of sales) 1,28,950
Profit 27.050
Sales 1,56,000

[5952] SODL -S-210 4



2. = Ans,

Stores Ledger Account as per FIFO method

Date | Particulars Receipt | Payment Balance |
Q R | Amt. | Q R | Amt Q R | Amt
12.Jan | Purchased 3000 4 12,000 - - - 3.000 4 12,000
20 Jan | Purchased 1,000 5,000 | - - - 3,000 4 12,000
| 1,000 5 5,000
8 Feb. | Issued . . - 2000 4 8,000 | 1.000] a4 4,000
1,000 5 5,000
10 Feb. | Purchased | 5.000 6 | 30,000 : - = 1,000 4 4,000
1,000 | s 5,000
5000 6 [30000
15 Feb. Issued . = 1.000 | 4 | 4,000
1000 | 5 | 5000
1000 | 6 | 6000 | 4,000 6 [ 24,000
| 4Mar. | lssued = 1000 L 6 T 6000 | 3000 6 | 15000
| 9Mar. | Issued = - : 2000 6 | 12,000 1.000 6 | 6,000
15Mar | Purchased | 4,500 | 5.50 | 24,750 P z 1,000 6 | 6,000
4,500 | 550 | 24,750
{ 30 Mar. Issued - 1000 [ 6,000
If 1000 | 550 | 5.500 | 3.500 | 5.50 | 19250 |
[5952]SODL-S-210 5



Total No. of Questions: 4] [Total No. of Pages: 1

PA-9216

[5952]SODL-S-212
SY. B.Com.
206 H : MARKETING MANAGEMENT -1

(2019 Pattern)

Time: 3Hoursg] [Max. Marks: 70

Q2

Q.4

ii)

iii)
iv)

Vi)
vii)
viii)

ix)

Xi}
x1i)

i)
ii)
iii)
iv)
v)
vi)
vii)
i)
ii)
iii)
iv)
v)
vi)
vii)

i)
ii)

Schemeof Marking & M odel Answer

Attempt any TEN out of TWELVE from the following (10
Each questions carry 01 marks- 01 * 10= 10 marks

It is a process of finding out customer needs and serving those needs
profitability.

Product, price, promotion and place

New entrants, bargaining power of supplier and buyer, threat of

substitutes

Planning for marketing activities.

Research related to various marketing activities.

A person who actually uses a particular product

Use of all such things of environmentally good.

The region of the surface and atmosphere of the earth or another planet
occupied by living organisms.

Electronic marketing

Return on Investment

Use of internet, devises. social media, search engines

Cultural, administrative or political, economics, geographic

Attempt any FIVE out of SEVEN from the following 25
Each questions carry 05 marks- 05 * 05= 25 marks

Marketing concept verses production concept.

Bargaining power of suppliers

Competitive behaviour.

Constraints to effective marketing planning.

Advantages of using eco-friendly techniques

Advantages of E-marketing.

Types of online advertising.

Attempt any FIVE out of SEVEN from the following (25)
What are the strength of competitors?

Elements of marketing planning.

Types of research methods in marketing.

Objectives of green marketing?

Comparison online and offline marketing.

Modes of media marketing?

Reasons for increasing global expansion of companies

Attempt any ONE out of TWO from the following (10)
significance — 05 marks

process of segmenting consumer markets- 05 marks.

advantages -05 marks

disadvantages of e-marketing- 05 marks

T 97 <97
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